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ENGLISH (15) 

Q1. Anger is the enemy of non violence and pride is a monster that swallows it up. This sentence has 

maximum number of ________ nouns. 

(a) Collective noun     (b) Proper noun 

(c) Abstract noun      (d) Common noun 

Q2. Find out the words that speak about only collective nouns. 

(a) Animal, troupe, herd     (b) Regiment, army, brood 

(c) Advocate, commander, engineer   (d) Batch, copper, anxiety 

Q3. ________ London is the capital of ______ United Kingdom. 

(a) A, a    (b) An, a   (c) The, no article   (d) No article, the 

Q4. Join the two sentences with the correct pronoun given below. 

“Once there lived two friends”. They were true to each other. 

(a) that    (b) which   (c) whose    (d) who 

Q5. She behaves in a very rude manner. Choose the adverb given below for the underlined part. 

(a) most rudely   (b) rudely   (c) more rudely   (d) none of these 

Q6. “She is fairly right on her part. We must support her to arrive on a conclusion”. Find out the 

adverb of degree in the given sentence. 

(a) support    (b) must   (c) fairly    (d) arrive 

Q7. Flowers and trees are God’s the_______________ gift to mankind. Choose the correct adjective. 

(a) very precious      (b) most precious  

(c) more precious      (d) prettier 

Q8. Identify the most appropriate sentence. 

(a) Inform the doctor that he is bleeding?   (b) What is your name. 

(c) How flawless she sketches.    (d) That was a great match! 

Q9. Choose the third form of BEAT. 

(a) Beats    (b) Beated   (c) Beating    (d) Beaten 

Q10. Find the one word substitution for the following. 

“Point in time by which something must be completed.” 

(a) Dandy    (b) Deadbeat   (c) Deadline    (d) Dead letter 

Q11. I haven’t _______ the film yet. Choose the correct option. 

(a) see    (b) sees   (c) saw    (d) seen 
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Q12. You had ________ this dress for the first time. Choose the correct option. 

(a) wore    (b) worn   (c) wearing    (d) wear 

Q13. Sagar  ________ at parties every weekend. Choose the correct option. 

(a) sanged    (b) sang   (c) sing    (d) sings 

Direction (Q14 & Q15): Fill up the blanks with simple past or past continuous, which ever is 

applicable. 

Q14. While we ___________________________ (watch) TV, the earthquake ________________ 

(start). 

(a) watching, started  

(b) watched, was starting,   

     (c) were watching, started 

     (d) were watching, was starting  

Q15. When I __________________ (put) the baby down the phone ___________ (ring). 

(a) putted, rang 

(b) putted, was ringing 

(c) was putting, rang 

(d) rang, put 

MATHS (15) 

Q16. An 8 digit  number starts with _______ place in Indian system. 

(a) 10 lakh.   (b) crore.   (c) 10 crore.    (d) lakh.  

Q17. Select the correct match of Roman numerals with their Hindu Arabic numerals.  

(a) CCXVIII-318.      (b) DCCLXIX=769   

(d) MMMCCXCIX=3399     (d) DCCXLVII=5748 

Q18. A grocer bought 22 packs of sweets .Each  pack contained 48.125 kilogram of sweets .He then 

repacked all the sweets into bags of equal weight of 8.47 kilogram of sweets. How many such 

bags did he use?  

(a) 98    (b) 150   (c) 60     (d) 125 

Q19. Ram has a wire 90 m long. He cut 1/3 of the total wire and cut the rest into four equal pieces. 

Find the length of each of four pieces. 

(a) 14 m    (b) 15 m   (c) 16 m    (d) 24 m 

Q20. Add 5th multiple of 42 and 9th multiple of 27. The value obtained is 20 less than ∆. Find ∆ 

(a) 433          (b) 473   (c) 468    (d) 404 

Q21. Shreya is thinking of a 4-digit number having all different digits.  

• The unit place is it is the greatest one digit number.  

• When the tens place digit is divided by the thousand place is it the quotient is 2. 

• The difference between the tens and hundreds place digit is 1. 

• The thousands place digit is double of 2. 

(a) 3768    (b) 4789   (c) 5698    (d) 1239 

Q22. Out of 25 oranges 4 were damaged. What percentage was good oranges?  

(a) 84%    (b) 25%   (c) 16%    (d) 75% 

Q23. If A means -,  B means ÷, C means + and D means × , then 

15 B 3 C 24 A 12 D 2= ? 

(a) 2    (b) 
5

9
   (c) −23

4

9
    (d) None of these. 

 



Page 3 
 

 

Q24. Fill in the missing number  

225 ,196 ,169, _____, 121 

(a) 114    (b) 156   (c) 144    (d) 104 

Q25. If 15 chairs cost Rs 234.How much do 70 chairs cost? 

(a) 1092    (b) 1920   (c)1029    (d) 1900 

Q26. Find the value of X in the given expression. 

832.58 - 242.31 = 779.84 - X 

(a) 179.57    (b)199.57   (c) 295.05    (d)189.57   

Q27. What is the next row of numbers? 

28          84            112 

38         114            152 

48          144          192 

 

(a) 58        184         244    (b) 58    174         232 

(c) 68         204       272    (d) 68     214      292 

Q28. 0.01 is what percent of 0.1 ? 

(a) 
1

00
   (b) 

1

10
    (c) 10     (d) 100 

Q29. Solve the given question. 

𝟏𝟐
𝟏

𝟐
+ 𝟏𝟐

𝟏

𝟑
+ 𝟏𝟐

𝟏

𝟔
 = ? 

(a) 32    (b) 36    (c) 37     (d) 39  

Q30. Raj scored 75% in Maths test. The marks were out of 40. How many marks did he score.  

(a) 15    (b) 32    (c) 35     (d) 30 

E.V.S (15) 

Q31. At least some of the seeds land in a suitable growing place by flying as the plants produce lots of 

seeds. Which type of method used for seed dispersal?  

      (a) By water   (b) By animal   (c) By wind    (d) Explosion 

Q32. Find the pair which does not match: 

(a) Horse- padded toes     (b) Turtles- use flippers   

(c) Duck- webbed feet     (d) Dolphins- breathe through blowhole 

Q33. ___________  protects our brain. 

(a) Cranium   (b) Metatarsals  (c) Humerus     (d) Mandible  

Q34. The scientific name for the kneecap is the _________. 

(a) clavicle   (b) scapula    (c) patella    (d) none of these 

Q35. Which of the following is/are INCORRECT statement (s) ? 

(i) Vitamin E deficiency causes early aging. 

(ii) Vitamin K deficiency causes delayed clotting of blood. 

(iii) Vaccination cannot act as a prevention of disease. 

(iv) Iodine is required for the production of haemoglobin. 

(a) (ii) and (iii)   (b) (iii) and (iv)  (c) (i) and (iii)  (d) (i) and (iv) 
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Q36. The nerves  that connect head and neck to the brain are _________. 

(a) Olfactory nerves     (b) Auditory nerves  

(c) Cranial nerves      (d) Optic nerves 

Q37. Which of the following is the purpose of migration in animals? 

(a) For breeding       (b) To escape extreme weather conditions  

(c) To search food & shelter    (d) All of these 

Q38. The soil has particles of different sizes. Arrange the words given below in increasing order of 

their particle size. (Rock, Clay, Sand, Gravel, Silt) 

(a) Clay< Silt< Sand< Gravel< Rock   (b) Clay<Sand<Silt<Gravel< Rock 

(c) Sand<Clay<Silt<Gravel<Rock   (d) Silt<Clay< Sand<Gravel <Rock 

Q39. Water which is free from chemical and biological impurities is known as__________. 

(a) Rain water   (b) Black water  (c) Distilled water   (d) Potable water 

Q40. Which is the second largest continent in the world? 

(a) North America   (b) South America  (c) Africa    (d) Antarctica 

Q41. Match the following and tick the correct option: 

        Column A                          Column B 

A. The Himalayas.         1. North America 

B. The Alps.                  2. South America 

C. The Andes.               3. Europe 

D. The Rockies.            4. Asia 

(a) A-4, B-2, C-1, D-3     (b) A-4, B-3,C-2, D-1 

(c) A-4, B-1, C-3, D-2     (d) A-3, B-4,C-1, D-2 

Q42. Which is the largest and highest plateau in the world? 

(a) Tibetan Plateau  (b) Deccan Plateau  (c) Mexican Plateau   (d) Columbia Plateau 

Q43. Which Loksabha elections were held in 2024 ?  

      (a) 17th    (b) 19th   (c) 18th    (d) None of the above 

Q44. Who appoints the Governor of a state? 

(a) Prime Minister   (b) Chief Minister  (c) Chief Justice   (d) President 

Q45. Which ancient civilisation flourished at the bank of river Nile? 

(a) Mesopotamian Civilisation    (b) Indus Valley Civilisation 

(c) Egyptian Civilisation     (d) Chinese Civilisation 

G.K (15) 

Q46. Which Prime Minister is known for the economic reforms of 1991? 

(a) Indira Gandhi      (b) Jawaharlal Nehru  

(c) PV Narasimha Rao     (d) Atal Bihari Vajpayee 



Page 5 
 

Q47. Which Prime Minister was known for the “Green Revolution” in India's agriculture? 

(a) Atal Bihari Vajpayee      (b) Lal Bahadur Shastri   

(c) Indira Gandhi       (d) Jawaharlal Nehru  

Q48. Which of the following is the official language of Maldives? 

(a) Sinhala    (b) Urdu   (c) Dari     (d) Dhivehi  

Q49. How many provinces does Nepal have ?  

(a) 5    (b) 9    (c) 7     (d) 10 

Q50. Who is known as “Iron Man of India”? 

(a) Govind Ballabh Pant      (b) Jawaharlal Nehru   

(c) Subhash Chandra Bose     (d) Sardar Vallabhai Patel 

Q51. The study of food is called as-  

(a) Bromatology   (b) Cynology   (c) Coniology    (d) Edaphology 

Q52. Thailand announced that it has proceeded to test its novel corona virus vaccine on which 

animal / bird? 

(a) Monkeys    (b) Lizards    (c) Hens     (d) Kites  

Q53. The fear of crowd is known as –  

(a) Ailurophobia    (b) Amaxophobia   (c) Androphobia   (d) Enochlophobia 

Q54.  Which country has announced to become the first European nation to issue digital Schengen 

visas for visitors to the 2024 Paris Olympics? 

(a) Switzerland    (b) France    (c) Germany     (d) Netherlands  

Q55. Who achieved India’s first rowing quota for the Paris Olympics? 

(a) Balraj Panwar   (b) Sawarn Singh   (c) Arjun Lal    (d) Jaswinder Singh  

Q56. Who is popularly known as the “Father of Cyber Security”? 

(a) Robert     (b) Charles Babbage  (c) Bob Thomas    (d) August kerckhoffs 

Q57. How many horizontal bands does the Indian National flag have? 

(a) 2    (b) 3    (c) 4     (d) 5 

Q58. Who is the founder of the commonwealth games ? 

(a) Pierre Baron de coubertin     (b) Melville Marks Robinson 

(c) Astley Cooper      (d) Mark Spitz  

Q59. Which superhero is known as the “Man of Steel”? 

(a) Vibranium Shield      (b) Green Goblin   

(c) Superman       (d) X-men  

Q60. What is the name of the subortial space tourism mission recently launched by blue origin ? 

(a) NS-16    (b) NS-20   (c) NS-26    (d) NS-30 

 


